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1. ...... is a living thing.

2. Which of the following thing is non-living?

3. This baby girl is a living thing because ........

(a) she eats food (b) she can move on its own

(c) she can breathe (d) All of these

Living and
Non-living Things
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4. Which of the following is living thing but cannot move from one place to

another in search of food?

(a) Plant (b) Elephant (c) Cat (d) Lion

5. Choose the odd one out.

(a) Table and chair (b) Cup and plate

(c) Forest and animals (d) Shoes and socks

6. In the given figure, which is a non-living thing?

(a) Swing (b) Children (c) Flowers (d) Trees

7. Match the following columns.

Column I Column II

A. 1. moves, but a non-living thing.

B. 2. moves at their place and a living

thing.

C. 3. can give milk and a living thing.

D. 4. can move from one place to another

and a living thing.

Codes

A B C D A B C D

(a) 1 3 4 2 (b) 2 4 1 3

(c) 4 2 3 1 (d) 3 1 2 4
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8. A seed is considered to be living thing because it can

(a) grow into a plant (b) breathe

(c) produce fruits (d) All of these

9. In the given picture, ........ are living things.

(a) moon, man and goat (b) stars and moon

(c) man, goat and tree (d) tree, stars and goat

10. Read the conversation between Sarita and Yogita.

Aeroplane can fly as it is a

living thing.

Yogita

A butterfly can fly as it is a

living thing.

Sarita
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Which of them are correct?

(a) Only Sarita

(b) Only Yogita

(c) Both Yogita and Sarita

(d) Neither Yogita nor Sarita

11. The correct picture showing growing stages of a human is

12. A cartoon channel shows a programme on a TV where a car talks and

walks. Choose the correct statement.

(a) The TV is non-living thing.

(b) A car is non-living thing.

(c) The cartoon channel is non-living thing.

(d) All statements are correct.

13. The correct picture which shows that living things can reproduce

14. Which of the following difference is incorrect?

Living-things Non-living things

(a) They can breathe They cannot breathe

(b) They can grow They cannot grow

(c) They cannot move on its own They can move on its own

(d) They can reproduce They cannot reproduce
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15. Sara’s father gifted her a puppy and a doll on her birthday.

Which of them can grow in size on her next birthday?

(a) Puppy only

(b) Doll only

(c) Both puppy and doll

(d) None of the above

Answers

1. (b) 2. (c) 3. (d) 4. (a) 5. (c) 6. (a) 7. (b) 8. (d) 9. (c) 10. (a)

11. (a) 12. (d) 13. (a) 14. (c) 15. (a)
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